Ch.3 Practice

ALL NUMBER ANSWERS MUST BE BOXED IN. INCLUDE ALL UNITS AS

NEEDED! GO VIKINGS!!!

Give the correct number of sig digs for the following:

1) a.4000 |

2)

b.0.000514 3

c. 0.000000030008 5
d. 60001 &

e. 7.10000
£.9.42x10° 3
g.0.027402 &

h.50,000. &
i. 0.000823000 (),
80 |

Place the following into scientific notation: (keep same # of sig digs)

2) a. 567,000 5.0 s
b. 0.0000223 22305
c. 0.0300 KRR 1 Sk
d. 500 Skt
e. 2001 \ 2.6 Y0
£. 0.0000520 S.20%p-5

Take the following out of scientific notation: (keep same # of sig digs)

a. 5.43 x10° S,430

b. 8.76 x10°° 0.6000 876
c. 9.0 x10° ﬂg(ym)) 000
d. 7.12 x10°®

O.002



3) Perform the operation and round to correct #j[vf sig digs.

a. (2.1 ft)+ (15 ft) + (0.634 fr) 74,339~ 5 811 |

b. (152.00g)/(50.0mL) .64 Ih

¢. (2.00 x 10°m) (12m)

d. (142x10%/(3.16 x 107

4) ROUND to three sig digs.
a. 3.05555¢g

b. 0.004097-mL
c. 84{9/}—m11es

d. 16.5 348-mm “Q_g W\w\?
e. 223 9%4hkg
EES, @

5) ROUND to one sig dig. i

a. 150-em

b. 003‘;5-g
c. 494nches

d. ia-cublts

80 wL;+s

6) WRITE four rules for determining sig digs. To the left of each letter
SHOW an example of the rule. €ress-eut the zeros if they do not count,
underline the zeros if they DO count.

uSdV\Jw\)Ol\ ;99,'{
" L"*M"\Vj 66612
Tra\\‘wj 3.4 EQ
"Wkl # 36 Lt 3.

** REMINDER ~ once you complete the entire packet ~ go back through and check
your work. You MUST complete EVERYTHING and turn this in by MONDAY!



7) SHOW your work and find the volume of 125.00g of Iron. (Hint, use
your text to find the density of Iron). Follow the steps to show your
work!!!

1) LIST THE GIVEN

2) SOLVE THE EQUATION FOR THE UNKNOWN
(arrow method!)

3) PLUG AND CHUG

4) EVALUATE ANSWER, box in the answer and make
sure you have UNITS and SIG DIGS!

- "
D= 397§ MY

=7 - /V\ (15 00 \) - {) o
@ D 5 ﬁg‘;éiml_} '68%3“/'6’938‘&“

8) Make the following conversions. USE KHDodem method and SHOW
YOUR WORK of dragging the decimals. BOX in your answer with

™ UNITS!!: )
2) 322 fDuml L3:m)m> w‘J
b) 0.0064ke>g [ .4

c)}égcm-)m & -

d) 3,000 m > km
l3km!

USE FACTOR label method to make the following conversions. Follow
the UNITS! Show how they cross off. BOX in your answer! Keep the

same number of SIG DIGS: .
a. 3 miles = inches M\,(d% o IB‘D/K/ ld A : ‘:

b. 14 gallons > L

c. 5,290 feet > km b( L(

)lqb

280
10) Write the FIRST five num ers of Fur phone n mb ;Lq D\Li"‘(
Now round your phone nu ber to the followmnumber of SIG DIGS:

a. Four ;lq 4 ‘;f_,

b. Three
c. Two 29 al-,U.{\
d. One
Y
24144




11) USING one CONCISE (it means short and to the point or brief) sentence
for each, explain the following:
a. The number of SIG DIGS your answer can have if you are adding
or subtracting.

—

> Tryit: 0.004 +32+6.1= i Pl ;i:ﬂ

b. The number of SIG DIGS your answer can have if you are
multiplying or dividing.

r . . or

- Try it: (303)*(12)*(4.00) = =
* Now place that number into scienfific notation: /

12) When converting from Celsius to Kelvin you must add qu
Kelvin temperature scale is based on /41386&\)1( Za(t) . The Kelvin

scale cannot have Atq ztvye  numbers. Water would boil at / m degrees
. -~ .
Celsius and 3 ('} 3 Kelvin.

13) Write two numbers that are not identical but would be considered precise with:

14, L3, 1S

14) If the density of gold is 19.6 g/mL. Write two numbers that are not identical but
would be considered accurate:

196, 19.% , 19.5

- Suppose you ask your calculator to divide 12.00 g by 6.00 mL. The
calculator will say “2.” This answer has only 1 SIG DIG but you are allowed
to have 3 SIG DIGS ~ so your calculator can help you but YOU have to
realize the answer should be “2.00 g/mL”

- Now suppose you use your calculator to divide 12.00 g by 5.72 mL. The
calculator will say “2.097902098.” This answer has TEN SIG SIGS, but you
are only allowed to have 3 SIG DIGS ~so YOU have know that the answer
should be “2.10 g/mL”

** AFTER COMPLETING THIS PACKET ~ I rate my understanding of Ch.3 as a
$54i»  /10. One lingering (staying around) question I STILL have is:

Go VIKINGS'!!



